
Name: Period:

Practice Worksheet: Rational Functions

Date:

I I The graph of a rational function has a(n)

of the numerator is

atY:0 ifthedegree
the degree of the denominator.

2] The horizontal asymptote of a rational function is the ratio of leading coefficients when the degree of the

numerator is the degree of the denominator.

3] If the degree of the numerator is than the degree of the denominator, the

rational function has a(n)

4] You must use synthetic or long to find the equation of an oblique asymptote.

5] When you cancel a common factor out of the numerator and denominator of a rational function, it forms a

in the graph at that point. To find the coordinates of that point, set the canceled factor equal to

and solve for x. Then to find y.
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6l Match

a) b)

d)c)

the work shown for each process.

Finding an oblique asymptote

Finding a vertical asymptote

Finding azero

Finding a hole

u2-tcitf(x):ffi-
Coordinates of hole:

(x+s)(x-s)
(r-s)(r+1)

x+5:-
x+1

Equation of vertical asymptote:

Zero(s): y-intercept:

Equation of horizontal OR oblique asymptote:

Domain: Range:

t] f@):#
Coordinates of hole:

Equation of vertical asymptote:

Zero(s): y-intercept:

Equation of horizontalOR oblique asymptote:

Domain: Range:



stf@)=#
Coordinates of hole:

Equation of venical asymptote:

Zero(s): y-intercept:

Equation of horizontalOR oblique asymptote:

Domain: Range:

tot f(x)-#
Coordinates of hole:

Equation of vertical asymptote:

Zero(s): y-intercept:

Equation of horizontal OR oblique asymptote:

Domain: Range:

rrtf(x)=#
Coordinates of hole:

Equation of vertical asymptote:

Zero(s): y-intercept:

Equation of horizontal OR oblique asymptote:

Domain: Range:

-6 -5 ., L

tztf@)-W
Coordinates of hole:

Equation of vertical asymptote:

Zero(s): y-intercept:

Equation of horizontal OR oblique asymptote:

Domain: Range:

Hint:The point (3. 8)

is on the graph and it
is a rel. minimum.
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ll The graph of a rational function has a(n) lhOvi-rnnia.l cr,rvmp-krt€ aty :0.if the degree

of the numerator is I e!-i th An the degree of the denoniinafor.

2] The horizontal asymptote of a rational function is the ratio of leading coefficients when the degree of the

numerator ir e q t ra {S the degree ofthe denominator.
L

3l If the degree of the numerator is An Oy'C than the degree of the denominator, the \
rational function has a(n) 'r-n-,*;r. -.1gtttg, (Ca^)f hAVe besrr)

4l You must use synthetic or long d ivi - i on to find the equation of an oblique asymptote.

5] When you cancel a common factor out of the numerator and denominator of a rational function, it forms a

\n O\ e in the graph at that point. To find the coordinates of that point, set the canceled factor equal to

Z ef O and solve for x. fhen to find v.
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6] Match the work shown for each process.

i 
(X ) ,l Finding an oblique asymptote

i6d., Finding a vertical asymptore
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(x+s)(x--s) 

- x+s
J ' \'-' x2-4x-5 (x-s)(x+1) x+7

Coordinatesofhole: ( 
= .g)

" -/ 3/
Equation of vertical asymptote: X = - I

Zero(s): (- Z,O) y-intercept: ( O, 5)

Domain: , .Range:
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}fib) Finding azero

$1)d) Finding a hole

Equation "r@o* oblique asymptote: y/ = I
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"*2-- (x +:)(x- r ) -*st f @) -1-, x.=-y
Coordinatesofhole: ( t, + )
Equation of vertical asymptote: f\On e

Domain: Ranse:

e *,t)u(tr*) " 
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Y+- 1
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totf@)-#=Gtt

Zero(s): 
^OnL

Coordinates of hole: / = I\\t,r71
Equation of vertical asymptote: X -- - +

y-intercept: (o, q)

I

x++

Equation "(*ffi)On oblique asymptote: V = Otr/

(-
Domain: , .Ranse: -

".r= *l v( *,s)u|r)*"u"'€ 4)o) u (eri )

rttf(x)=#=&ffif.
Coordinates of hole: f-.1Oatg

Equation of vertical asymptote: Y- = - 
=

_ Zero(s),(- 5, O) G,O) y-intercept: (O ,- 5)

,,,:**fquation 
of horizontaloR@asymptote: /= x - |

5\\'/t'"'' Domain: - ,Range:

(-*r-:)u(- ir.u)"""' (- @/ *)

-7 -€ -5 -1 -3 -1 rll 4

Hittt:The point (3. 8)

is on the graph and it
is a rel. minimum.
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